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foldowing:
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3rda foot 92.80 pounds 71
> - N R y

4th foot 93.80

average molsture content as

«urface down were as follows:
22.17 per cent
21.00 per cent
3rd foot 18.63 per ceant
4th foot 16.02 per cent
Taking th¥s per cent:of the dry wel

1 +* ¥ - g o £ 13 3
s the following number oI pounde
t from the suriace;
k. Fa 1 1 ~ AT A
1st foot 17 .45 pounds.
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3rd foot 17.26 pounds.
4th foot 14.84 pounds.

A 2
q40

water

the total

one acre in

arna

-

1st tons

(@]
7

foot

S‘ 8 C' ®

2nd foot

drd foot

ght

o
WA

cubic

water

foot.

-

L

foota

D

-~
ex

in

3. |15 HOois

per cubic foot given

ehbie &

tons for




+a] of 1491.03 toms of water in the first four feet of
.1 and one acre in area, to begin the cropping season. This of
goltsiLs

not sufficient for all crop needs but starts the young

course 18

ftquﬁ Season.
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he records at this

following wverage rain fall

April 5.86 inches or 663.35 tons per acre,
Ma 4,51 inches or 510.50 t

June 4.72 inehes or 535.30 tons

or a total of 1709.15 tons of water that falls through the months of

T e ' . 1A e -~ > 3 1 o
pril, May and June, which added to that already in the soil give
' \ A " S 3 e+ 3 e S I 1 : e
s total of 3200.18 tons of water that is supplied to the soil during

, that is,
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a certain per cent of the total weight of the soil. The avail

ability varies in different soils, usually, accordingtto King, after
the moisture content has fallen
capacity of the soil the plant wilts. About six per cent 1is given

vy, of mnavailable moisture in the soil. of

the amount left in the soil a part is lost by percolation, a part

by evaporation and wh
uring the rainfall, unless the ground is in a very receptive condi-
tion for rainfall and the rainfall is no faster than can be taken in
11, more or less is lost by surface drainage. it

as the amount of unavailable water in the soil, or that be-
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plant begins to wilt, we have, considering the average

he soil for the first four feet as 88.59 pounds per foot:

4

et is left is used by the plant. Again in fig-

il




4%88.59 X 43560 =

ng15.39 X .06 = 456.8 tons of u

evaporation,

of the
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Oats, 22.4

N
one-=nall

Clover, and

orne

average crop raised on an acre to July 1.

up

to Frofessor King the amount moisture drawn

transpiration and evaporation are:

alze, 270.9 tons per ton dry matter.
Oats, 503.9 tons per tom dry matter.
Clover, 576.6 tons per ton dry matter.

Of corn the yield of fodder is given by Henry as one ané

grain, which would, considering twenty-

acre, equal about two tons of dry matter

Il

2 X 270.9 541.8 tons of moisture required by the crop for

transpiration and evaporation.

Of oats, considering the ratio of grain to straw as 1:2 or

: 1 - . B 29
straw and the average yield of 22.4

1shel gives +he + 4 s ; | o i
HeL glves the total weicht of dry matter as about one and one-

X 803.9 = 829.8 moisture required By the aver-
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